Revision
1.2587 + = 2587
.5 +1 =7000

3. 4075 + 3587 + 2032 = 3587 + 2032 +

4.1350+_ =1450

5.6899+__ =6909
61234+__ = =2234
7.9999+___ =9909

8. The expanded form of 9048 is

9. The standard form of 6000 + 10 + 1 is

10. The sum of the place value of 5 in 5260 and 2658 is

11. The difference in the face value of 7 in 1789 and 1587 is

12. What is the sum of the place and face value of 8 in 98657?

13. 1000 + 500 +3 in standard form is written as

14. 8Thousands + 6 tens in standard form is written as

15. The smallest number that should be added to 9999 to make it an even
number?

16. The difference of the place value of 3 in 6832 and 6823 is



